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QUESTION 1

You are implementing the Checklist functionality for one of your customers. The customer wants the checklist template
to be allocated to persons automatically. 

What should you do to archive the required functionality? 

A. Managers can automatically allocate checklist templates to the persons whom they manage from Person Gallery. 

B. Associate the eligibility profile with the checklist template to allocate the checklist to persons automatically when they
satisfy the criteria built in the eligibility profile. 

C. Associate the action with the checklist template to allocate the checklist to persons automatically when they
experience the action. 

D. Associate the area of responsibility with the checklist template to allocate the checklist to persons automatically when
they are given the specific area of responsibility. 

E. Associate a life event with the checklist template to allocate the checklist to persons automatically when they
experience the event. 

Correct Answer: C 

 

QUESTION 2

A static approval group named "Trio" comprises three members ?Jacob, Susan, and Dia (in the mentioned order). For
all the Manage Employment transactions, the approval should be routed to the "Trio" approval group. When the
assignment change transaction is submitted, what is the order in which these members receive the assignment change
approval notification? 

A. System decides the approval route by randomly selecting approvers who are a part of the approval group. 

B. First Approver ?Dia, Second Approver ?Susan, Third Approval ?Jacob. 

C. All three get the notification at the same time. 

D. First Approver ?Jacob, Second Approver ?Susan, Third Approver ?Dia. 

E. The approval is routed alphabetically. 

Correct Answer: D 

 

QUESTION 3

Grade structures (grades, grade rates, and grade ladder) were configured for your customer and the required employee
assignment data was migrated to the system. However, there was a change in requirement and the customer decided to
delete some grades because they were no longer used. When you try to delete one such grade from the system, the
system throws an error. 

Identify three possible reasons for the system error. 
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A. There are assignment records of one or more employees associated with this grade. 

B. The grade has grade rates defined. 

C. The grade is linked to a grade ladder. 

D. A grade cannot be deleted and can only be made inactive by changing the status to "Inactive". 

E. A grade cannot be deleted and can only be end-dated. 

Correct Answer: ABC 

 

QUESTION 4

A client requires that promotion approvals should go to a static set of three users in a sequential manner, with the
approval process continuing to the next user if the prior approver is not available. 

What setup is required to meet this requirement? 

A. While configuring Approval Group List Builder, select "Allow empty groups" as True. 

B. All approvers must be present in the system; else, the promotion transaction fails. 

C. While configuring Approval Group List Builder, select "Allow empty groups" as False. 

D. The default functionality is that if any approver is not present, then the transaction gets auto-approved. 

E. Enable a descriptive flex field to capture the approves in the required sequence and create Approval Group List
Builder. 

Correct Answer: C 

 

QUESTION 5

As an employee within an organization you access your Public Information/Spotlight page within the Directory. 

What updates are you allowed to directly make on this page that all users with access to your Public Spotlight will be
able to view? 

A. Update area of expertise, area of interest, contact information, profile photo, public message, and HR Representative
Information. 

B. Update about me, area of expertise, area of interest, contact information, profile photo, public message, and peer
information. 

C. Update about me, area of expertise, area of interest, contact information, profile photo, public message, and
background photo. 

D. Update home address, area of interest, contact information, profile photo, public message, and background photo. 

Correct Answer: A 
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QUESTION 6

Your company wants to track previous employment information for workers, including employer name, dates of
employment, and job description. Which action should you perform? 

A. Create a free-form content type and a new content item. 

B. Create a new content type and content item. 

C. Use a seeded content type and a new content item. 

D. Create a new content type but a seeded content item. 

E. Create a free-form content type without a content item. 

Correct Answer: E 

 

QUESTION 7

Which three options define Enterprise Structures Configurator (ESC)? 

A. It is an interview-based tool that guides through the process of setting up a basic enterprise structure. 

B. The tool creates a structure of divisions, legal entities, business units and reference data sets. 

C. The tool creates a structure of divisions that may then be manipulated by the administrator. 

D. After defining the enterprise structure and the job / position structures, the administrator can review them, make any
necessary changes and then load / rollback the final configuration. 

E. The tool creates a structure of divisions, legal entities, business units and departments. 

Correct Answer: ABD 

 

QUESTION 8

Which two options can be directly mapped to the employee record during hiring? 

A. Job Family 

B. Legal Employer 

C. Payroll Statutory Unit 

D. Business Unit 

E. Enterprise 

F. Division 

G. Sub-Division 

Correct Answer: BD 
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QUESTION 9

Select three correct Workforce Structure definitions. 

A. Department 

B. Location 

C. Division 

D. Geography 

E. Facility 

F. Country 

Correct Answer: ABC 

 

QUESTION 10

What are three advantages of using Position Synchronization? 

A. If you use Position Synchronization, Manager Self Service cannot be used. 

B. Synchronized attributes will be displayed as read-only in the assignment to ensure the position as the only source of
truth. 

C. For synchronized attributes, any position update will automatically be pushed to the incumbents\\' assignments. 

D. The customer can configure which assignment attributes to synchronize from the position. 

Correct Answer: BCD 

 

QUESTION 11

Your customer is hiring an employee and assigning a line manager to the newly hired employee. What statement is
correct? 

A. The line manager search is based on the public person security access. 

B. The line manager search is based on the job in which the employee is hired; only the job grade higher than the
employee job will appear in this list. 

C. The line manager search is based on the position hierarchy. Therefore, if an employee is hired in a particular
position, the search will populate employees with a higher position than the newly hired employee. 

D. All the employees whose employment record has the "Working as Manager" check box marked as "Yes" can appear
in the drop-down list. 

Correct Answer: B 
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QUESTION 12

Action Reasons provide further explanation for actions, for example, an action of transfer could have reasons such as
reorganization or career progression. As a developer, you have created Actions as part of Oracle Global Human
Resources Cloud setup. Now you are in the process of adding Action Reasons. 

Identify the three correct statements regarding Action Reasons. 

A. Action Reasons can be user defined. 

B. Action Reasons are primarily used for analysis and reporting. 

C. Worker termination predictions use Action and Action Reason to determine whether termination is voluntary or
involuntary. 

D. Action Reasons can be deleted if no longer being used. 

Correct Answer: ABC 

 

QUESTION 13

A human resource specialist is promoting an employee. While promoting an employee, the human resource specialist is
required to enter the promotion date, promotion action, and promotion reason. However, the promotion reason list of
values does not list an appropriate reason. 

Select the two options that would help the human resource specialist understand the Action framework available in the
application. (Choose two.) 

A. Action Reasons are seeded and can be defined by a user. 

B. Action Reasons are seeded and cannot be defined by a user. 

C. Actions are seeded and cannot be defined by a user. 

D. Action Types are seeded and cannot be defined by a user. 

Correct Answer: AD 

 

QUESTION 14

A candidate applied for an employment opportunity with a legal employer in the past. The candidate reapplies after
some time for an opportunity with a different legal employer in the same enterprise. While applying the second time, the
candidate provides a new national identification value. 

Which option does the application use to check if a matching record already exists in the system? 

A. The application cannot identify the matching record and there will be two person records available for further
processing. 

B. The application identifies a match if the first name, the first character of the last name, and date of birth are the same;
or if the last name, the first character of the first name, and date of birth are the same. 
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C. Because the national identifier has changed, the system cannot identify the matching record. 

D. The application searches for the availability of date of birth and middle name to identify the matching record. 

Correct Answer: B 

 

QUESTION 15

Action Type identifies the type of business process associated with an action and determines what happens when you
select that Action. As part of implementing Oracle Global Human Resources Cloud, Action Types are associated with
Actions. 

Which two statements are correct regarding Action types? 

A. Additional Action types can be created. 

B. An Action type cannot be associated with user-defined actions. 

C. Action types are seeded. 

D. Every Action type can have multiple actions within it. 

E. If Termination is an action, Normal Termination is an action type. 

Correct Answer: CD 
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